[(F199= BRRBET ]

F 4 8 202558 A 29( &)
7 JIRAY —k AV REF —hk

1| 7ER44sr | XWX A RE 2B | EH BA | 7ee44sr | X ER RS MM TR PEXA PRI KK Fo
2| 7e51% | X |EAR K A AER [KZHE BT [NaER BT | 2| TEbS | X |FKR BR AR E 5 MR AE
3| Te¥b8% | X [BFL F— ZEER A (NE FE W EF 3| 7e¥68% | % |Nlkm #X B §F CREEE
4| 8B506% | X |AA B52% |(Hrw B wE BBHE HE LA\ 4| 88505% | % [&R& F#& R EE MeE EZ
5| 88§12 | X [ E H‘A AN HasE TR 3T L BF 5| 88%12% | X |EFH#H #= RE % FIER =&
6| 8195 | X |WTEF F LN S KZE fag (FE FF 6| 885195 | X [T E BEk few JK  |#&Kk EWA
7| 8B26% | X |[mu Ak R B— REIR 3K BT s 7| 85265 | X% [LZA A 18 R Fadk
8| 8E§33% X R H— B F— KR # A AR 8 | 884335 | X |4 2R Ex TE OEA
0 | 8405 | X [ RE PE BT RE %A il F— 9| 88¥40% | X |BRE R B R EE E— ‘2N B
10| 8E47% | X | B4 FH Y £ P EF B3I = 10| 88475 | X% |EN 2% Be Fi BAR =B P
11| 88%b4% | % [ B35 AmE FEI E BE A& BX 11| 8®§bds | X (B F% FE AR HA phY
12| 985014 | X% [Nt & BT X R R 12] 985015 | % [Nitm & BE BE BE fak ¥w| HE&
13| 98%08% | % [#AK PAE R RZF (N X EAR f— 13| 98508% | X% [#TE E& £H &K EH KE | mWE
14| 98225 | X |8 &% &k BN Z— TE B BE f7— 14] 98§22% | % |/Rf& BX Nka #HR MU kB Wil S
15| 9852945 | X [ KA A |8F SA BB E= 15| 9852945 | % [EA AR 2R PR BR RE R EAa
16| 98%36% | X% [ B K& BE B R@E F KR HX 16| 98%536% | X% |[REB %8 FR W =¥ EAT & RE
17| 98%43% | % | LKA SH—BPIE HB= Nnika 25 BT WA 17| 98%43% | % [Ek BRK BETa ¥ FEE BF
18| 9850% | X | &M £ T =R §:1 BE B- PIAs HF= 18| 9B§50% | X |[FE E4R B BER NEF B— 2 F

19 9856745 | X |F# Hig ZEEE ZREEE CEHEE
191 1085045 | % | K& H# PNl RER (RR X B A% 20| 1085045 | % |®AE ¥ MR B&iE Fub X ¥eE XKJ
20 108114 | X |[>5R@E #Ep | LKE A e FR WL B— 21| 1085115 | % |HR #&K¥A NEERE #X |T&% EfF BFo K
21| 108518% | ¥ | K& & Hal &8 AE EX xE BRE 22| 108%18% | % | B ®R—_f |mAEB EA |Bo %IT BA —A
22| 108525% | % |B A ik Lk FH ZE K
23| 108532% | % |4 EF ik A BN B
24| 108%39% | % |[HeE #H#& FE ETEH (BR B 23| 108%39% | % |BF Ri& ShE OEX BE H—R (BN =F
(B4 7 &)

1 F7NR)7HFXNEFTEW) L) RAYMDFE v— VT - T INRy N AT 39 T

2 RY—hw—71—
3 =7EVER—IL

7RG —k 5% -TF&

AVAZ—h 14%F-17%
X RENITVWELA, ER(2EE®IIR BRLIEWELEET, TB2RBOR, EKBRWERLET,
X A=/ —8vF

FE--Fv—A—(ORREIZE2—A—/TORMR EIZT—)VR™)

TR FRT—A—(T0RKREDFEL T T47)




